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Sub questions

Question Number : 1 Question Id : 68634038487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152001. 1

686340152002. 2
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686340152004. 4
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Question Number : 2 Question Id : 68634038488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152005. 1
686340152006. 2
686340152007. 3
686340152008. 4

Question Number : 3 Question Id : 68634038489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 4 Question Id : 68634038490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152013. 1
686340152014. 2
686340152015. 3
686340152016. 4

Question Number : 5 Question Id : 68634038491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152017. 1
686340152018. 2
686340152019. 3
686340152020. 4

Question Id : 68634038486 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634038487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634038488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152005. 1
686340152006. 2
686340152007. 3
686340152008. 4

Question Number : 3 Question Id : 68634038489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qe-ge-SaH Bl i@l & 3fF a1 ArE- T 52

1. 3 1 fasfifeer

A BT
3. oilaHT e
4, T - 2fed

Options :
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Question Number : 4 Question Id : 68634038490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152016. 4

Question Number : 5 Question Id : 68634038491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152017. 1
686340152018. 2
686340152019. 3
686340152020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401265
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634038492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152021. 1
686340152022. 2

686340152023. 3
686340152024. 4

Question Number : 6 Question Id : 68634038492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340152021. 1
686340152022. 2
686340152023. 3
686340152024. 4

Question Number : 7 Question Id : 68634038493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152025. 1
686340152026. 2
686340152027. 3
686340152028. 4

Question Number : 7 Question Id : 68634038493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152025. 1
686340152026. 2
686340152027. 3
686340152028. 4

Question Number : 8 Question Id : 68634038494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152029. 1
686340152030. 2
686340152031. 3
686340152032. 4

Question Number : 8 Question Id : 68634038494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152029. 1
686340152030. 2

686340152031. 3
686340152032. 4

Question Number : 9 Question Id : 68634038495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152033. 1

686340152034. 2

686340152035. 3
686340152036. 4

Question Number : 9 Question Id : 68634038495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152033. 1
686340152034. 2
686340152035. 3
686340152036. 4

Question Number : 10 Question Id : 68634038496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152037. 1
686340152038. 2
686340152039. 3
686340152040. 4

Question Number : 10 Question Id : 68634038496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152037. 1
686340152038. 2
686340152039. 3
686340152040. 4

Question Number : 11 Question Id : 68634038497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152041. 1
686340152042. 2
686340152043. 3
686340152044 4

Question Number : 11 Question Id : 68634038497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152041. 1
686340152042. 2
686340152043. 3
686340152044. 4

Question Number : 12 Question Id : 68634038498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152045. 1
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Question Number : 12 Question Id : 68634038498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634038499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152049. 1
686340152050. 2
686340152051. 3
686340152052. 4

Question Number : 13 Question Id : 68634038499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152049. 1
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Question Number : 14 Question Id : 68634038500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152053. 1
686340152054. 2
686340152055. 3
686340152056. 4

Question Number : 14 Question Id : 68634038500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152053. 1
686340152054. 2
686340152055. 3
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Question Number : 15 Question Id : 68634038501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152057. 1
686340152058. 2
686340152059. 3
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Question Number : 15 Question Id : 68634038501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634038502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634038502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Ufda I 40 Tsiohdl 8, G3pH A 304 WH B 3U= gl 3R 5 IF 59 PR WHiaRd foar & dfda
o 39 Sl 3R 10 TSfedl 35| ol 2. g3 o go Ui 9 4 = S o, 9l g™ ot
3R e & sid U e @ FRyfd s g2

1.18
2.20
3. i,
4. 24

Options :

686340152061. 1
686340152062. 2
686340152063. 3
686340152064. 4

Question Number : 17 Question Id : 68634038503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152065. 1
686340152066. 2
686340152067. 3
686340152068. 4

Question Number : 17 Question Id : 68634038503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152065. 1
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686340152067. 3
686340152068. 4

Question Number : 18 Question Id : 68634038504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634038504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634038505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634038505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tfeay T UW 31eR &1 Ued Uied 3R U= Siae Wl a1l o Jobal g
AfeaE- 1

%]

2
= Rl e

“

o || || B2 || = |
=4 =l = el el =
il Reall =4 M= R
= =]

|

[ e = e e

L]

=l Sl

1 IR S T TS

i (Wo el (Neallrh ool e

7 I IS EES

=1 51 I I 2

LYol | ]

|
FAITH Y=g & {10 Ol 9c & ggaid o

1.43.42. 41, 78, 89

[ )

1,349,283, 76,79
3. 24,31,10, 59,57
4,12, 20. 40. 68, 65

Options :
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Question Number : 20 Question Id : 68634038506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634038506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y SIS! BT T B [orges! Hay e ST U Iea] & Ta Wis & FOH © -
HUST ; TR
1. €1% : Tl
Tl : e
Tl - HYedl
it : gt & &cq
Options :
686340152077. 1
686340152078. 2
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Question Number : 21 Question Id : 68634038507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152082. 2

686340152083. 3
686340152084. 4
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Question Number : 21 Question Id : 68634038507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. IE9G 39
3. T4 40
4. HT=5G 48

Options :

686340152081. 1

686340152082. 2

686340152083. 3
686340152084. 4
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Question Number : 22 Question Id : 68634038508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 61 Yl 11 ¥ ffeH sifs
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A. DMy Truth . [rrEen s
B. [The Broken Wings 1L [Efey el
C. My Experiments with Truth| 11 [GRIHT 9108
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fafeiad fadedl @ 9 98l Ik &1 994 B ;

1. A-IV, B-IIL. C-I. D-II

[ ]

AL B-IL C-L D-IV
3. A-IL B-1IIL. C-1. D-IV
4. A-I1. B-IIIL. C-IV. D-I

Options :

686340152085. 1
686340152086. 2
686340152087. 3
686340152088. 4

Question Number : 22 Question Id : 68634038508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A DMy Truth . [FEEE T

B. [The Broken Wings 1L [Sfexr s
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D. [Exam Warriors IV. = Aigt
FFafeRad fameal § 9 el Ik &1 99+ BT :

1. A-TV. B-III. C-1. D-II
2 AL B-11, C-1, D-IV
3. A-IL B-1IL. C-1. D-IV
4. A-IL B-IIIL C-IV. D-1
Options :
686340152085. 1

686340152086. 2
686340152087. 3



686340152088. 4

Question Number : 23 Question Id : 68634038509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URmT: Well # wqul oifd= ardl gedl YRdi Ak B 2

1. G2, 3o

T2 faea
3. BT 9Y
4. A1 TeR]

Options :

686340152089. 1

686340152090. 2

686340152091. 3
686340152092. 4

[ ]

Question Number : 23 Question Id : 68634038509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uik Wt o ol oiid= arefl ugdl YRdi SR B 2

1. dtd, 9w
3. DU Y
4, T e

Options :

686340152089. 1

686340152090. 2

686340152091. 3
686340152092. 4
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Question Number : 24 Question Id : 68634038510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152093. 1
686340152094. 2
686340152095. 3
686340152096. 4

Question Number : 24 Question Id : 68634038510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152093. 1
686340152094. 2
686340152095. 3
686340152096. 4

Question Number : 25 Question Id : 68634038511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152097. 1
686340152098. 2
686340152099. 3
686340152100. 4

Question Number : 25 Question Id : 68634038511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152097. 1
686340152098. 2
686340152099. 3
686340152100. 4

Part B: Economics
Section Id : 686340758
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401266
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634038512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Markets fail in the presence of

A, Market power

B. Positive Externalities

C. Negative Externalities
D. Competitive market

E. Agsymmetric information

Choose the correct answer from the options given below:
1.B & C only
2. A B.Conly
3.B.C.D only

4 A B.C.Eonly
Options :
686340152101. 1
686340152102. 2
686340152103. 3
686340152104. 4

Question Number : 26 Question Id : 68634038512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152101. 1
686340152102. 2
686340152103. 3
686340152104. 4
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Question Number : 27 Question Id : 68634038513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1I LIST 1T

A | P Do I Non-Rival in consumption and
excludable

2. | b Goods I Rival in consumption and
excludable

C Common Pool I Non nival in consumption and

" | Resources " Non-sxcludable

D. | Public Goods W Fival in consumption and Non -

excludable

Choose the correct answer from the options given below:

1. A-L. B-IL. C-IIL. D-IV

-J

CA-ITL B-TV, C-L D-II1
3. A-IL. B-1. C-IV, D-III

4, A-IV. B-III. C-II. D-I
Options :
686340152105. 1
686340152106. 2
686340152107. 3
686340152108. 4



Question Number : 27 Question Id : 68634038513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-L. B-II. C-III. D-IV

-2

CA-IL B-IV. C-I, D-III
3. A-IL. B-1. C-IV, D-III

4. A-TV. B-IIL. C-I1. D-I
Options :
686340152105. 1
686340152106. 2
686340152107. 3
686340152108. 4

Question Number : 28 Question Id : 68634038514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct ?

A. Life cyele hypothesis was propounded by Francois Modigliani
B. Absolute Income Hypothesis was propounded by Milton Friedman

C. Relative Income Hypothesis was propounded by James Duesenberry.
D. Permanent Income Hypothesis was propounded by John Maynard Keynes

Choose the correct answer from the options given below:

1. A& C only

2

A, B, C only
3.A&D only

4. B & C only
Options :
686340152109. 1
686340152110. 2
686340152111.3
686340152112. 4



Question Number : 28 Question Id : 68634038514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152109. 1
686340152110. 2
686340152111. 3
686340152112. 4

Question Number : 29 Question Id : 68634038515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R:

Assertion A: Pareto optimality implies that an allocation of resources 1s inefficient
when it 18 possible, through some change in the allocation of resources to benefit at
least one person without making anyone else worse off.

Reason R: Pareto efficiency takes into account distributive justice and
compensation of people affected negatively.

In the light of the above statements, choose the most apprepriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is NOT the correct explanation of A.
3. A 15 correct but R is not correct.

4. A is not correct but R is correct.
Options :
686340152113. 1
686340152114. 2
686340152115.3
686340152116. 4



Question Number : 29 Question Id : 68634038515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152113. 1
686340152114.2
686340152115. 3
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Question Number : 30 Question Id : 68634038516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the number of degrees of freedom of the residual sum of squares in a
simple bivariate linear regression with 100 observations?

1. 100

[

87
3.98

4.2
Options :
686340152117. 1
686340152118. 2
686340152119. 3
686340152120. 4

Question Number : 30 Question Id : 68634038516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152117. 1
686340152118. 2
686340152119. 3
686340152120. 4

Question Number : 31 Question Id : 68634038517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. &
For a level curve of Jf[ X, l"} _ y2 1, what is the value of =2
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Options :
686340152121. 1
686340152122. 2
686340152123. 3

686340152124. 4

Question Number : 31 Question Id : 68634038517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340152121. 1
686340152122. 2
686340152123. 3

686340152124. 4

Question Number : 32 Question Id : 68634038518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ 3
What 1s the degree of homogeneity of (x, %)= ¥l oy
' ' v X

)
e

4.6
Options :
686340152125. 1
686340152126. 2
686340152127. 3
686340152128. 4

Question Number : 32 Question Id : 68634038518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340152125. 1
686340152126. 2
686340152127. 3
686340152128. 4

Question Number : 33 Question Id : 68634038519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Data collected at a point in time are called

1. Cross - sectional data

i

2. Tume series data

. Pooled data

Lad

4, Panel data
Options :
686340152129. 1
686340152130. 2
686340152131.3
686340152132. 4

Question Number : 33 Question Id : 68634038519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152129. 1
686340152130. 2
686340152131. 3
686340152132. 4

Question Number : 34 Question Id : 68634038520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The budget presented in the Parliament on the 1% of February 2023 for the
financial year 2023-24 has the Revised Estimated (RE) and Actuals, of the
financial years and respectively.

1.2023-24 and 2022-23

b2

.2022-23 and 2021-22
3.2021-22 and 2022-23

4.2021-22 and 2023-24
Options :
686340152133. 1
686340152134. 2
686340152135. 3
686340152136. 4

Question Number : 34 Question Id : 68634038520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faras 2023- ?4%@@%‘&@ 2023 B 9 H UK(d goie 4 faway
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UHaI g |
1. 2023-24 301 2022-23

. 2022-23 3R 2021-22

[

3.2021-22 31N 2022-23

4. 2021-22 Sﬁ_\f 2023-24
Options :
686340152133. 1
686340152134. 2
686340152135. 3
686340152136. 4

Question Number : 35 Question Id : 68634038521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The maximum value of the monetary policy multiplier 1s (where b
implies sensitivity of planned mvestment spending to interest rate. ¢ implies
marginal propensity to consume and t = marginal tax rate. k implies sensitivity of
money demand to interest rate).

i i)

1-e(1-1)
gx &
l—c(1—t¢)

3.

k

]

4. —

b

Options :

686340152137. 1
686340152138. 2
686340152139. 3
686340152140. 4

Question Number : 35 Question Id : 68634038521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152137. 1
686340152138. 2
686340152139. 3
686340152140. 4

Question Number : 36 Question Id : 68634038522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A firm in a perfectly competitive market is making zero economic profit in the
long run. It will have the incentive to :

1. Shut down

| ]

. Continue to operate as it is
3. Exit

4. Relocate to another industry
Options :
686340152141. 1
686340152142. 2
686340152143. 3
686340152144. 4

Question Number : 36 Question Id : 68634038522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152141. 1
686340152142. 2
686340152143. 3
686340152144. 4
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Question Number : 37 Question Id : 68634038523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following production functions 1s NOT homogeneous of degree one?

1.Q=alL+bK
2 Q o aL__‘:‘.4KI.3
3. Q=23VKL

4. Q= A[G{] r_ﬁ +- (I —a)K_B]Im where 0 =g <1

Options :
686340152145. 1
686340152146. 2



686340152147. 3
686340152148. 4

Question Number : 37 Question Id : 68634038523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa § € 19 91 3ueT Bad 9 Ue & 9H9d T8 87

1.Q=aL+bK
2.Q=al** K2
3. 0=23KL

4. Q= :’-"\[C{] ,_ﬁ - (I —CL)K_B} VB where 0 <g <1

Options :

686340152145. 1
686340152146. 2
686340152147. 3
686340152148. 4

Question Number : 38 Question Id : 68634038524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
The law of diminishing returns to a factor is observed when employment of
additional units of a resource leads to

1. A decline in total product

[

. A decline in average product

[FY]

. A decline in marginal physical product

4. A decline in marginal cost
Options :
686340152149. 1
686340152150. 2
686340152151. 3
686340152152. 4

Question Number : 38 Question Id : 68634038524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152149. 1
686340152150. 2
686340152151. 3
686340152152. 4

Question Number : 39 Question Id : 68634038525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Book) LIST II (Author)
An inquiry into the Nature and Causes

o of Wealth of Nations L [Petd beadn
Principles of Political Economy and John Mayvnard
B : Ir
Taxation Kevnes
€. | Theories of Surplus Value 11 | Karl Marx

General Theory of Emplovment

" |Interest and Money LY. [P Sali

Choose the correct answer from the options given below:

1. A-L. B-II. C-IIL. D-IV

-2

. A-TL. B-I. C-III. D-IV
3. A-IV. B-I. C-III D-II

4. A-TV. B-III. C-1. D-II
Options :
686340152153. 1
686340152154. 2
686340152155. 3
686340152156. 4

Question Number : 39 Question Id : 68634038525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-IIL. D-IV

12

. A-IL B-I. C-IIIL. D-IV
3. A-IV. B-1. C-IIL. D-II

4. A-IV. B-I11. C-1. D-II
Options :
686340152153. 1
686340152154. 2
686340152155. 3
686340152156. 4

Question Number : 40 Question Id : 68634038526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are correct in presence of negative externalities?

A. Negative externalities lead to an inefficient allocation of resources.

B. Marginal external cost curve is added vertically to the private marginal cost
curve to yield the social marginal cost curve.

C. The efficient level of output attained is more than the market equilibrium
output.

D. The intersection of the marginal social cost curve with the demand curve
gives the efficient level of output

Choose the correct answer from the options given below:

1. A Conly

| B

. C.D only
3.A.B and D only

4.B.C.D only
Options :
686340152157. 1
686340152158. 2
686340152159. 3
686340152160. 4



Question Number : 40 Question Id : 68634038526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafaa § S oF ToREs aeasi o suffa S I8 8§ 2

A, ABRIAD SIS 4 SG1EH] B DU 6 gial o
B. YIS THid @NTd 9% o1 Wity g JIH1d 918l aTd 9% &1 S@EeR 3
I [l TiHid drTd g I SIS Ok 6 |
C. TG & G&fdd R &1 W IR Hqer ard 3d1g 9 e gidi ol
D. HIT 9% & 1Y i\ GHE1oE AR 9% &1 Wid=ig, 3dle & g&ad Wl
TS Rl &
H¢: ved o el O 9 U5l SR &1 904 BiTeIg:
1. Pad AR C
Had c ARD
3. Had A B HRD

4. %adAB. C IRD
Options :
686340152157. 1
686340152158. 2
686340152159. 3
686340152160. 4

[ )

Question Number : 41 Question Id : 68634038527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: In the extreme case of perfect price discrimination the dead weight
loss of monopoly 1s completely eliminated and all the surplus in the market goes to
the monopolist.

Statement II: Impertect price discrimination necessarily increases welfare
compared to the outcome of a single monopoly price.

In the light of the above statements. choose the meost appropriate from the options
given below:

1. Both Statement I and Statement IT are correct

I

. Both Statement I and Statement IT are incorrect

L)

. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement IT 15 correct
Options :
686340152161. 1



686340152162. 2
686340152163. 3
686340152164. 4

Question Number : 41 Question Id : 68634038527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIE AR RIC A

Y 1 90 0 fq1E & =R O © TSR &1 $d YR THYH (S8de
gﬁ’?ﬁﬂﬂ{ﬁw@fwﬁtm%ﬁmww&ﬁﬁiﬂﬁqmﬁ%‘m&aﬁmml
E

®YA I1: 3901 geo g Ha=ye 30 ¥ Ued UhIUeRl ed & URUIE &1
qo1 8 Sed deldl g |

STRI HE & et F, 9 g o fosedt F 4 wét s @1 7w S
1. PYA SR 11 &HT T &

YT 1 3R 11 SHT T §

3. FYA 19T 8, TS HY 11 770 ©

4. YT 1T &, Wb ST 11 98T §

Options :

686340152161. 1
686340152162. 2
686340152163. 3
686340152164. 4

[ ]

Question Number : 42 Question Id : 68634038528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Coefficient of correlation can not be less than - 1.
Statement IT: Regression coefficient can not be less than - 1.

In the light of the above statements. choose the correct answer trom the options
given below:

1. Both Statement I and Statement IT are true

-2

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1z false
4, Statement I 15 false but Statement 11 1s tiue

Options :
686340152165. 1



686340152166. 2
686340152167. 3
686340152168. 4

Question Number : 42 Question Id : 68634038528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- gl pYT AU &
YU I: IETHEA B0 -1 § Y 6] & gl 5|

SYT [1: THYT U0 -1 T HH T8 ol gHar ¢

SR HF & it 7, 19 Ry g et § 3 et S 1 90 S
1. PRI EH A€

FHY 1 AR IS ST

3. PYTITTE, AP FUT I O ©

[ B

4 FYTI AT B, AT HYT I I ©
Options :
686340152165. 1
686340152166. 2
686340152167. 3
686340152168. 4

Question Number : 43 Question Id : 68634038529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Normal distribution 1s positively skewed.
Statement IT : Normal distribution is leptokurtic.

In the light of the above statements. choose the correct answer trom the options
given below:

1. Both Statement I and Statement II are true

I

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 15 false

4, Statement I 15 false but Statement IT 15 true
Options :
686340152169. 1
686340152170. 2
686340152171. 3
686340152172. 4



Question Number : 43 Question Id : 68634038529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS e s

HYT I T 8¢ SRS 39 3 Aug gar gl

YT IT: I g o dal (GEipie®d) gl

SIRIF FUF & A 5, 4 QU T faped! § € |gl S &1 997 DI
1. BYAT AR S T §

PYF 1 HR I 3T &

3. PUTITTE, T DU I T &

[ B

4 FYTI AT B, AT HYT I I ©
Options :
686340152169. 1
686340152170. 2
686340152171. 3
686340152172. 4

Question Number : 44 Question Id : 68634038530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
N e L
S = i T | 20 p
% i{‘&ii%ég \-';21?31_:8051)%3: . E e Ja i
D 7€ (aversge Toral Cou - A

Choose the correct answer from the options given below:;

1. A-IL. B-III. C-L. D-IV

| ]

CA-IV. B-IL C-L D-II1
3. A-IV. B-1. C-I1. D-III

4, A-IIL B-TV. C-I1. D-I
Options :
686340152173. 1
686340152174. 2
686340152175. 3



686340152176. 4

Question Number : 44 Question Id : 68634038530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 151 gl 11 8 e Sifou

et 1 Tl 11
el ST TC (Total Cost) =20 + 10q -
ABe+g . L |10-6q+3q?
B 4d R TFTd (AFO) B
AFTd UGd TC =20+ 10q - 3¢° + o z .
g ps . |10 - 3g+02
g @R (MC) B 10~2gry
. [PeI @A A TC =20 + 10g - 3¢? + ¢° 20) .
C. I = + 10 —3q 4
3G T AT (AVC) B q -
UGd @4 aFTd TC =20+ 10q-3¢" + & | <+ b
8 - IV, |20
3Td Hd A (ATCO) B .
FafaRad [aeedl § 9 981 3R &1 98- Difult -

1. A-II. B-III. C-1. D-IV

| )

A-IV. B-IL. C-1. D-I1I
3. A-IV. B-1. C-I1. D-III

4. A-ITL. B-TV. C-11. D-I
Options :
686340152173. 1
686340152174. 2
686340152175. 3
686340152176. 4

Question Number : 45 Question Id : 68634038531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statement(s) for an open economy:

A. Sterilisation implies nullifying the mnpact of foreign exchange transactions
on domestic money supply.

B. In a sterilized mtervention mn the foreign exchange market by the central
bank, a purchase of foreign assets should be matched by a sale of domestic
assets.

C. In an open economy with fixed exchange rates and perfect capital mobility.
the central bank can pursue independent monetary policy.

D. Sterilised intervention with perfect asset substitutability under fixed
exchange rate allows the exchange rate to depreciate.

E. Real exchange rate can change only due to changes in nominal exchange
rate.

Choose the correct answer from the options given below:

1. C and D only

| )

.C.B and E only
3. A and B only

4. B. C and D only
Options :
686340152177. 1
686340152178.2
686340152179. 3
686340152180. 4

Question Number : 45 Question Id : 68634038531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U el Senawil §q o] Y- BT 997 Biorl |
A SHTEREUT (RS ¥ 9 a1 i W faexi oo e uue

EARGIESIE L F RGN

B. B0 9% gRI fageh fatan oo § snfirféa sxaaa & savid faei
gl @ Eiie o o uRaml @1 9wt ¥ o g ey

. R fafy g= 9 UGS o1 gul e ardl us gl srioraen § ssig
% Wad Aifc® i &1 g o gohar gl

D. RBR faf g @r & siavia uigmafr! @1 gl afo=iro-iadr & 9y
siftRférd ey fdHmg a1 gIRK 11 @1 38fd Wer ear g

E.%mfﬁﬁma?%aﬁﬁai faf g ar ¥ ufvadl & @R s5d I&ar

E

=il foU 77U faoedl O 1 Tad SUgad STk &1 997 BT
1. %ad C SR D
2.%ad C.B3IRE
3. a0 A ARB
4.%dd B.C 3R D

Options :

686340152177. 1
686340152178. 2
686340152179. 3
686340152180. 4

Question Number : 46 Question Id : 68634038532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose the US mterest rate 1s 3% per annum. The %-$ exchange rate in spot
market 15 80 and 1n 3 - month forward market 1s 81. What is the per annum return
on US bond in rupee terms?

1.4.25%

2. 8%

3. 1L.75%

4. 2%
Options :
686340152181. 1
686340152182. 2

686340152183. 3
686340152184. 4

Question Number : 46 Question Id : 68634038532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TSI fh 4,08 o0Tsi & 3% Wiay 8| B1oR SR(EIE Hiehe) 7 2.5
faf1ra 3% 80 3R 3 HEIH A1YE] IR (PRAS Hice)H 81 81 IAU S G H Y,
U9 818 | ufaay ufdwa &1 82

1.4.25%

| )

. 8%
3. 1.75%

4, —2%
Options :
686340152181. 1
686340152182. 2
686340152183. 3
686340152184. 4

Question Number : 47 Question Id : 68634038533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. l .
The function —-532 is:
¢

ey

. convex for I xl < | and concave for rrl >

-2

. concave for |xl < | and convex for Irl > ]
3. convex everywhere

4. concave everywhere
Options :
686340152185. 1
686340152186. 2
686340152187. 3
686340152188. 4

Question Number : 47 Question Id : 68634038533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

c—%xz B &
1. |x|<;€:§eﬁﬁah?|x|}1%§&mﬂﬁ
2.|x| < 189 3faerd 2R || > 1 3g Fua@
3. 944 3ad

4, 49 3fdad
Options :



686340152185. 1
686340152186. 2
686340152187. 3
686340152188. 4

Question Number : 48 Question Id : 68634038534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Garran Tribunal was constituted during the colonial times to:

1. discuss about the division of taxes between the provinces and centre in
colomial India

[

. digcuss and decide about the division of financial responsibilities between
India and Britain on military expenditure.

3. decide on the pricing of railway tariffs in colonial India

4. decide about the famine relief strategy in the backeround of the Great Bengal
Famine
Options :
686340152189. 1
686340152190. 2
686340152191. 3
686340152192. 4

Question Number : 48 Question Id : 68634038534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIMGTaTRe H1e & FRE Tidd TR SR &1 T34 e g favar ar up

1. OFee YRA§ &5 AR U d da B & AU & an g =41
GRECE|

2. BT gl iR YR R faea & 9 foxig SoRefial & Juea & an
& =t ok ol #vA 5g

3. SMUEAMREE YR 436 Yob (CRE) & gogd IR g &3 5q
4, ST & Hel- T D1 gYUH T SETd 8d $I WHITT &R oG #531 5q

Options :

686340152189. 1
686340152190. 2
686340152191. 3
686340152192. 4

Question Number : 49 Question Id : 68634038535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose in a closed economy aggregate demand is given by AD = A(y.1) where y
is real income and 1 is rate of interest. IS curve represents a locus of different

combinations of y and 1 for which y = A(y, 1). What is Qf along the IS curve?
di

1+A,,
Aj
Options :
686340152193. 1
686340152194. 2
686340152195. 3
686340152196. 4

4,

Question Number : 49 Question Id : 68634038535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

T o & Ue e sidoga= § THa A AB = A(y) T ERIVEd & Waly
ardla® 3 3R i AR BT ER o1 1S T y 3R i & 39 ol T=4] &1 faguy

2 o R y=A@1). SIISTH R % FE 2
T

144
A;
Options :
686340152193. 1
686340152194. 2
686340152195. 3

4,




686340152196. 4

Question Number : 50 Question Id : 68634038536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Among the new monetary aggregates of RBI (suggested by Y. V. Redy working
group) which one ineludes tune deposits of maturity up to 1 vear but not longer
maturity?

1. NM1
2. NM2
3. NM3

4. MD
Options :
686340152197. 1
686340152198. 2
686340152199. 3
686340152200. 4

Question Number : 50 Question Id : 68634038536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@ dt X! P GYE & GRS M) 3R, 8. 3115, & TdI Hifae F07l
& O DI T G 31 Traivs Jar3i &) giiifed sear g St afusar

3afe U Y q 81 IR=g 39H e uRumar sl ardl wafde s ol
EE

LU 1
2.TATH2
3.0 TH 3
4.QH 0

Options :

686340152197. 1
686340152198. 2
686340152199. 3
686340152200. 4

Question Number : 51 Question Id : 68634038537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The rate of growth of the output of an economy during a period 1s 5% If the shares
of capital and labour are 0.6 and 0.4 respectively and capital and labour grow at
10% and 5% respectively, what 1s the solow residual for the output function given
g V= A k® LJ @

1. 3%
2.2%
3. 3%
4. 4%

Options :

686340152201. 1
686340152202. 2
686340152203. 3
686340152204 4

Question Number : 51 Question Id : 68634038537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feelt gy & U o SHa® & TdIE 1 gis 1 & 5% § | Ieure H goll 3R
9T & 3 PELL: 0.6 3R 0.4 B. TUTY6H 3R 97 BT FhGax HAE 10% 3R 3%
21 Ry suSaET BaT v=A kL “ & fom Fidl (Solow) iy o1 g

1. 3%

| ]
I
=
£

4, 4%
Options :
686340152201. 1
686340152202. 2
686340152203. 3
686340152204. 4

Question Number : 52 Question Id : 68634038538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the per capita production function y = k*-: what is the level of savings rate at
which the consumption per capita is maximised at steady state? Assume
depreciation (6) = 0.1 and no population growth.

1.10%

| )

. 20%
3. 40%

4. 50%
Options :

n



686340152205. 1
686340152206. 2
686340152207. 3
686340152208. 4

Question Number : 52 Question Id : 68634038538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i safad Sdre- Bad y = k05 8, dl §9d a2 &1 98 W &1 o ford IR R
3faRyT H Hid Safdd STHI SHUHTH Bid1 € | 7 Tifo i 1 819 (5) =
0.13(R SHEEAT E g gl 1|

1. 10%

| )

. 20%
3. 40%

4. 50%
Options :
686340152205. 1
686340152206. 2
686340152207. 3
686340152208. 4

Lh

Question Number : 53 Question Id : 68634038539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider an economy with perfect capital mobality. fixed price level and flexible
exchange rate. What will be the effect of a rise in foreign interest rate on output?

1. rise

[

. decline

T

. 110 change

4. falls at a decreasing rate
Options :
686340152209. 1
686340152210. 2
686340152211. 3
686340152212. 4

Question Number : 53 Question Id : 68634038539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uil @ qui Tiaiierdr, fad Siad ok aeil faf- 0 g faw! sifereari o)
fqaR SIfoY | fae2i e o § gig & URUITRawY God1g IR WHIG o ER1T?

1L9f&
2.8
3. ®Ig 9fad= el

4. BRH R W FHH B 8
Options :
686340152200. 1
686340152210. 2
686340152211. 3
686340152212, 4

Question Number : 54 Question Id : 68634038540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the inverse demand function is P = A — BQ, where A and B are positive

constants, what 1s the elasticity at Q = 2—?} ?
1.-B
;I
B
3.2A
4.1
Options :

686340152213. 1
686340152214. 2
686340152215. 3
686340152216. 4

Question Number : 54 Question Id : 68634038540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4ie e AT Ba P=A-BQ. T Wl A SR B ¢H@S RRP 6. Q= 2_"; By
SEEEIUIR |

1.-B

I

4.1
Options :



686340152213. 1
686340152214. 2
686340152215. 3
686340152216. 4

Question Number : 55 Question Id : 68634038541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following renowned economists was a member of the Royal
Commission on Currency and Finance of 19137

1. Alfred Marshall

[

. John Maynard Keynes

T

. Lionel Robbins

4, Joan Robinson
Options :
686340152217. 1
686340152218. 2
686340152219. 3
686340152220. 4

Question Number : 55 Question Id : 68634038541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafeiaa & 9 $H Ui sel=el 1013 & g1 3R a0 W A0e SHRE &1
Ud Tod uidi

1. 3{eths T
2. S OIS B
3. feraa Afe=
4, ST Afe=8

Options :

686340152217. 1
686340152218. 2
686340152219. 3
686340152220. 4

Question Number : 56 Question Id : 68634038542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LIST1I LISTII
A | Quantitative Theory of Money 1. | James Tobin
B_ | Exchange Rate Overshooting II. | Trving Fisher
) E Eudiger
C. |Law of One Price IIT. Dorabiech
D Liquidity I_nterence as a Behaviour v | Gustar Cassel
towards Risk

Choose the correct answer from the options given below:

1. A-IV. B-1, C-III, D-II

| )

CA-TTL B-IIIL, C-IV, D-1
3. A-IIL B-IIL. C-IV, D-I

4, A-II. B-1. C-IV, D-III
Options :
686340152221. 1
686340152222. 2
686340152223. 3
686340152224. 4

Question Number : 56 Question Id : 68634038542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
gt 1 1 gl 11 9 fHaH Sl

g1 A 11
A |z @ HE E 1 [of g 2lfed
B [T o H dite SErd 1. [3fd e
C. [ $i9d @ s | 1L [$lSoR SHER
D, [FIREH o Ufet oHdeR & ¥ H qrad] V. e e
frafeiad fam el # 9 Jet IR o1 99 SIfe ;

1. A-IV. B-1, C-III, D-II

| )

VAT B-IIIL C-IV, D-1
3. A-TIL B-IL. C-IV, D-I

4, A-I1. B-1. C-IV, D-III
Options :
686340152221. 1
686340152222. 2
686340152223. 3
686340152224. 4



Question Number : 57 Question Id : 68634038543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements 1s/are correct in AR =0

A. A system of linear equations is homogeneous if each constant to the right of
the equality is zero.

B. A gystem of linear equations has either a trivial solution or infinite number of
solutions.

C. A system of homogeneous equations with more than unknowns than
equations (m < n) 18 consistent and has infinite many solutions.

D. In cases where there are solutions other than the trivial solution, the
equations are linearly mndependent.

Choose the correct answer from the options given below:

1. A. B and D only

-2

.A. B and C only
3.A, CandDonly

4. C,D and B only
Options :
686340152225. 1
686340152226. 2
686340152227. 3
686340152228. 4

Question Number : 57 Question Id : 68634038543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AX =0 ¥ FEff@a 8 4 o9 3 Hu= 981 &2

A.'%@f%ammw ™ TEEY Bl ¢ gid allgt IR Ud® (udie I
EGIE
B. Y% gHimu e | a1 6 gal @ T safivdy gidl § a1 vy
(Trivial) BS Bl g
C. YEPY FHIHRUN & U fgerd oy SHieul & ga-1 § =il &1 9
YD BT (m<n) BN T 3R TP 37 60 6Id &
D. 37 91Hdl § oiel A1vd gdl & sfalkad o0 ga gl adiew W vy
ESRERGRE
=14 fau 0 fasmedl # ¥ 9ad SUgER SR BT 90 B
1. Had A, B ARD
Had A.B3RC
3.%ad A.C3RD

4. FFAC.DIRB

| B



Options :

686340152225. 1
686340152226. 2
686340152227. 3
686340152228. 4

Question Number : 58 Question Id : 68634038544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the high noon of the British Empire, which of the following statement(s)
is/are true?

A. Britain had a current account surplus with India, but a current account deficit
with the rest of the world.

B. Britain had a current account deficit with India, but a current account surplus
with the rest of the world.

C. Britain had a current account surplus with India and it had an even higher
current account surplus with the rest of the world.

D. Britain had a current account deficit with India and even higher current
account deficit with the rest of the world.

E. The current account surplus which Britain had with India was sufficient to
tide over the current account deficit with the rest of the world.

Choose the correct answer from the options given below:
1.LALE
i B
1B

4 A C
Options :
686340152229. 1
686340152230. 2
686340152231. 3
686340152232. 4

Question Number : 58 Question Id : 68634038544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafew g @t SHval & eRF FEfET Y PR Y FuE I &7

A. TSI &7 YRA & |1y =1 T HTORY o1, W 99 fay & Ty = @
HIeT 4T

B. f6ie=1 &1 YRd & 1Y =1 Wil °Tel YT, Uid Y {9y & 91y = @il
Sffe=ie o |

¢. foie=T &1 YRd & |1y =1e] @idm Uy U, wig 99 fay & 91y 38y
IR TS Gl ALy 7|

D. fsie= &1 YRd & Ty =L Widl U1eT YT, TR WY f9% & 1Y 599 =k
ITe] Tl HTeT T |

E. foid=1 &1 YRd & Q1Y =i1e] @idm SATU=Y o1, i 99 fay & 91y =re @
gIe] S R & & ferg gai vl

14 fau e fam gl § O 9ad Sugad TR B 907 BIvE:

1A B
B 1)
3.D.B

4 A.C
Options :
686340152229. 1
686340152230. 2
686340152231. 3
686340152232. 4

Question Number : 59 Question Id : 68634038545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: A large share of the expenditure in the government budget during the
colonial period 1s referred to as Home charges and had to be paid i sterling.

Statement IT: On the depreciation of the Indian rupee. the expenditure of the
colonial government in India used to decrease because of this reason.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4, Statement I iz false but Statement IT is true
Options :
686340152233. 1

686340152234. 2
686340152235. 3



686340152236. 4

Question Number : 59 Question Id : 68634038545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEEARIC AT

YU L AUMARIS BTE P GRIF DR goic § 309 & g5 3% Bl 8 Yeb &
%9 1§ gafii favan Srar & SR g9t yira whefn § fasan siar |

SYF I1: YRAY FUU & a0 IR YR § S1YHdE¥e SReR & o4d 58
PRUI S BA-TGeT HH o fldT UT|

SRIGd YT & e 1, J1= U T el § O 98l 39X &1 994 S
1. PYTI SR ITEA G &
YT 1 R 11 S 3 ©

3. PUTITTE, A PUT I T ©

[ B

4 FYTI AT B, AT HYT I T ©
Options :
686340152233. 1
686340152234. 2
686340152235. 3
686340152236. 4

Question Number : 60 Question Id : 68634038546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose massive capital outflows cause nominal exchange rate to depreciate by
10%. At the same time. foreign and domestic price levels rise by 5% and 20%
respectively. What will be the approximate change in real exchange rate?

1. Depreciation by 2.5%

[ ]

. Depreciation by 5%

LF¥)

. Appreciation by 25%

4. Depreciation by 25%
Options :
686340152237. 1
686340152238. 2
686340152239. 3
686340152240. 4

Question Number : 60 Question Id : 68634038546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HegH Bifory fe fammer Joit sfeyare & SR e faFma &R F 10%
Tede oidl & | 34 97Y a3z SfiR oe geg woR 0 @A 5% 3R 20% I &I
gi< gicl &1 arafae fafma &= o ufad &1 9 31 g

1. 2.5% ged g

L] -
| S

A fa
£ S

4. 25% T g
Options :
686340152237. 1
686340152238. 2
686340152239. 3
686340152240. 4

Question Number : 61 Question Id : 68634038547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The inverse of a function: x=,/3y+9 is

I
o |
-

1l 4
4. :'X"' -3
3

Options :

686340152241. 1
686340152242. 2
686340152243. 3
686340152244. 4

Question Number : 61 Question Id : 68634038547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 3
1. % -5
1
2. ?xz
3.-3x7+1
1 5
4, -_1'}{‘"—3
Options :

686340152241. 1
686340152242. 2
686340152243. 3
686340152244. 4

Question Number : 62 Question Id : 68634038548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
With good X on the horizontal axis and good Y on the vertical axis. a U shaped
indifference curve indicates:

—

. X good, y bad

[

. X and Y both good

[#X]

. X good then bad: Y good

4. Y good then bad: X good
Options :
686340152245. 1
686340152246. 2
686340152247. 3
686340152248. 4

Question Number : 62 Question Id : 68634038548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&S a1 IR a%g X SiR FHealeR 3igf W aw] Y & HIY, U U 3M1Ppid e
fATemT gep ey Hear &

XS, Y 88
X AR YEHITS
XTSRS Y18

—

I

L

4, YIS R as . XTS
Options :
686340152245 1



686340152246. 2
686340152247. 3
686340152248. 4

Question Number : 63 Question Id : 68634038549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Second order Taylor series expansion of y = In(1—x) 1s :

bd

X
1, %
2
i
X
; S
2
2
X
S
2
2
A
4- _x+.
2

Options :

686340152249. 1
686340152250. 2
686340152251. 3
686340152252. 4

Question Number : 63 Question Id : 68634038549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

}'=ln[l—x}$[%_(ﬂqméﬂ?mm%:

Options :

686340152249. 1
686340152250. 2
686340152251. 3
686340152252. 4



Question Number : 64 Question Id : 68634038550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose that in a given college, proportion of admitted students who complete
their degree 1s 0.7. what 1s the expected number of students who will complete
their degree from a random sample of 20 students from a given batch?

1.14

[ ]
[

4.4
Options :
686340152253. 1
686340152254. 2
686340152255. 3
686340152256. 4

Question Number : 64 Question Id : 68634038550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dl & (& 3 Heifderey § 4o wik (U gU o[ § 9 feill gt e
aTel ST @1 SiUTd 0.7 &1 Sl 3w U & ¥ oy 1 20 faentifal & arefess
3 4 A Rl o) e ol Faefefat @) v i@ o 22

1. 14

| ]
(oo}

3.42

4. 4
Options :
686340152253. 1
686340152254. 2
686340152255. 3
686340152256. 4

Question Number : 65 Question Id : 68634038551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



; : ; : .dx d
Find the general solution of the differential equation: — + e S8
X ¥

1 1
X ¥ o

[ )

degxrlogy=cy oy

J.xy=c

4.x+y=c
Options :
686340152257. 1
686340152258. 2
686340152259. 3
686340152260. 4

Question Number : 65 Question Id : 68634038551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dx dy

HaHd GHIHIU] — == =0 1§ & T4 P |

11
XY i

-

b

dogx+logy=cy vy

Jxn=c

4. x+yp=c
Options :
686340152257. 1
686340152258. 2
686340152259. 3
686340152260. 4

Question Number : 66 Question Id : 68634038552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The possible inflection points for (x) = l x3 = l_xz — % 4] isfare;

3

_I-.-l

o
b

|

|
a3
B
v

Il

B
Options :
686340152261. 1
686340152262. 2
686340152263. 3
686340152264. 4

Question Number : 66 Question Id : 68634038552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 2 - ; .

f(x)=—x3- —x? - Zx + 1 G T g &

- 9 6 3

l.xz%

Fokmmt

1

3. x—% and x = 3

4.2
Options :

686340152261. 1
686340152262. 2
686340152263. 3
686340152264. 4

Question Number : 67 Question Id : 68634038553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3
Find the scalars )y and 2, that are attached to y = and w = |: J to yield [%} ]
2

2. 2
S ly=y
| 2
2- !] __Erl Lz E
3 " o q L] _ ]
.l"\.'l — ot .l"l.-z e E
; l 2
Sibym-gudp=-t
Options :
686340152265. 1
686340152266. 2
686340152267 3
686340152268. 4

Question Number : 67 Question Id : 68634038553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[E]%ﬁﬁﬂ%ﬁmlzzé ﬁﬁw=ﬁ}ﬁmm&ﬁﬁﬁhﬁh@aﬂ

BIGEZY
LA 2
e i e
I = 2
2- f] __TT,‘ ;“2 E
3.7 5. 7 ]
.l"vl ——ay .l"\.-z =§
— | - 2
4 dy=-z, by =%
Options :
686340152265. 1
686340152266. 2
686340152267. 3
686340152268. 4

Question Number : 68 Question Id : 68634038554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the correlation coefficient between two variables X and Y is 0.6, what
proportion of variation in Y 1s explained by variation in X?

1. 0.60

| ]

.0.36
3.0.40

4.0.2
Options :
686340152269. 1
686340152270. 2
686340152271. 3
686340152272. 4

Question Number : 68 Question Id : 68634038554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B B (b FI TR X R Y & dld ggday q0H 0.6 51 v H FEU B
faramT SfaTd X & TRERUI §RT SORaTid 82

1. 0.60

| B

. 0.36
3.0.40

4. 0.2
Options :
686340152269. 1
686340152270. 2
686340152271. 3
686340152272. 4

Question Number : 69 Question Id : 68634038555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For a strictly convex function f{(x). which one of the following is true? [0 <4 < 1]

Loaf(x))+(1=R) 7 (x5) = £ Axy +(1-2) %5 ]

2

Flx)+(1=2)F{x, } < .f'{lxl +(1 —.?,}.xz]

et

faa
-,

Lf (%) +(1=R) £ (xg) 26 [Axg + (1 =) x5 ]

407 (%)) = (0=2) 7 (xq) s £ (%)) + (1=2)x, |
Options :
686340152273. 1
686340152274. 2
686340152275. 3



686340152276. 4

Question Number : 69 Question Id : 68634038555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&I IAqIER (3ud) Be- f(x). & g FeEliEdd s g @ s [o<r< 1]

[y

zif {x] }+{1 -L)f {"2 } > f[iuxl +(1 —k}xz:

L2

af(x)HU=R) £ (xg) < £ 2y +(1-2)x, ]

fad

AL (x)+ (=) (xg) 20 Rxg +(1-2)x; |

4. w1 x[}—[l—?-,)_f{xﬂ < !'i}..{.xl}ﬂl—}.],\:
Options :
686340152273. 1
686340152274. 2
686340152275. 3
686340152276. 4

Question Number : 70 Question Id : 68634038556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Linear regression model is:

1. Linear in explanatory variables but may not be linear in parameters

[ )

. Nonlinear in parameters and must be linear in variables

L]

. Linear in parameters and must be linear in variables

4. Linear m parameters and may not be linear in variables
Options :
686340152277. 1
686340152278. 2
686340152279. 3
686340152280. 4

Question Number : 70 Question Id : 68634038556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T gEIE Hisa:

1. SIREATED =R 1§ 2@ gl 3 foo=q Tya § & uradl 3 ¥a® =81 81
Tl 8 SR SR =RI H e g

3. Ul 5 36 SR =11 i g

T H X g SR W § S RI H v e el

|

e



Options :

686340152277. 1
686340152278. 2
686340152279. 3
686340152280. 4

Question Number : 71 Question Id : 68634038557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the expression

L i
YI = Ij]+ Bz XI + 1
u; gives the difference between

1. the actual and estimated Y values

| B

. the actual and estimated X values

3. the actual and estimated values of B;

4. actual and estimated values of B,
Options :
686340152281. 1
686340152282. 2
686340152283. 3
686340152284. 4

Question Number : 71 Question Id : 68634038557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fau U eieles ©
Y =ﬁ|+ﬁ3Xi +1j

(, e g SR ver TR &

1. GEdTa® 3R Wadied v O

 grIfae 3R wgsied X O

|

faa

By 3 OIS SIR Wil A1

4. B, 3 ARATAT 3R WED T A

Options :

686340152281. 1
686340152282. 2
686340152283. 3
686340152284. 4



Question Number : 72 Question Id : 68634038558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
You are given the following data for two variables X and Y:

X =2.00, Y=4.67
Regression coefficient of Y on X = 1.50
What 1s the estimated value of intercept in the regression of Y on X?

1.7.67

-2

. 1.67
3:2.335

4, 21467
Options :
686340152285. 1
686340152286. 2
686340152287. 3
686340152288. 4

Question Number : 72 Question Id : 68634038558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P! X 3R v 3l =T & fore Fafofag sies g i &
X =2.00, Y=4.67

Y IR X &1 GHHTU 0D = 1.50

Y & X U HHYTU H 3= W08 1 WgS eid JiH o1 gHT?
1.7.67
2.1.67
3.2.335

4.2/467
Options :
686340152285. 1
686340152286. 2
686340152287. 3
686340152288. 4

Question Number : 73 Question Id : 68634038559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose that for a random sample of size 10, sample covariance between variables
Xand Y is 100, and sample variances of X and Y are 25 and 400 respectively.
What 1s the value of sample correlation coethicient between X and Y?

1.1

[ ]

.0.01
3.0.1

4. 0.001
Options :
686340152289. 1
686340152290. 2
686340152291. 3
686340152292. 4

Question Number : 73 Question Id : 68634038559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 wIorg fob Hicesl SPR 10 dTel T ATefwo® HideRi g 9 X AR Y&
e ufaesl 98 WER01 100 B 3R X 3R Y & Ufdesl vERo HHe: 25 3R 400 8
dl X 3R Y & o uldel gegdy ulie &1 017 991 g2

1.1

| )

. 0.01
3.0.1

4. 0.001
Options :
686340152289. 1
686340152290. 2
686340152291. 3
686340152292. 4

Question Number : 74 Question Id : 68634038560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The consumption function is given by C = 100 + 0.8y and the investment is given
by I = 50. For which of the following level of output the level of unplanned
inventories would be negative?

1. 790

[ B

750
3. 800
4. 740

Options :
686340152293. 1



686340152294. 2
686340152295. 3
686340152296. 4

Question Number : 74 Question Id : 68634038560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHIT BT C = 100 + 0.8y T §RI 3R HaW1=50. F gRIGW I g
Fafaiad § 9 3dme & o R & o oo ¥ G0 FT R
BUTHD I

1. 790

| ]
|
Lan
L2

3. 800

4. 740
Options :
686340152293. 1
686340152294. 2
686340152295. 3
686340152296. 4

Question Number : 75 Question Id : 68634038561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The maximum value of Fiscal policy multiplier 1s

(b implies sensitivity of planned investment spending to interest rate, ¢ implies
marginal property to consume. t is marginal tax rate, k refers to sensitivity of
money demand to interest rate)

* 1—e(1 - 1)

Options :

686340152297. 1
686340152298. 2
686340152299. 3
686340152300. 4

Question Number : 75 Question Id : 68634038561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BTN i TgUI @1 SHfidad 3H 81 (b7 3% oIS &R Bl

Ja1 i o 1 gaifed &.c 1 s SuHiT St diar Sif, « dimrd
PR a3 8. K &1 &2 & Wid gal A1 & garfear 4 §aiia g1

1, 1
k
I
TR l—e(l—t)
3. 1
b
PP
“1-cfl —-1)
Options :

686340152297. 1
686340152298. 2
686340152299. 3
686340152300. 4

Question Number : 76 Question Id : 68634038562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following data of an economy 1s given:

Consumption function C=300+08 (1 -1) Y:
Investinent Function I = 900 — 50 1;
Government expenditure G = 800,

Marginal tax rate t = 0.25

The IS equation corresponding to the above 1s:

1.Y=5000+ 1251

-2

. Y=5000—-1251
3.Y=4250—-1251

4. ¥=4250+ 1251
Options :
686340152301. 1
686340152302. 2
686340152303. 3
686340152304. 4

Question Number : 76 Question Id : 68634038562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreit srfomawy &1 Fafatad sres e gan g
SO BAIC=300+08(1-1) Y:

a9 ®ed 1=900-50

PRI TG G = 800

A P t=0.25

RIS & TETHR IS GHIBRUI &:

1.Y=5000+125:

[ ]

S =5000—=1257

Y =4250—125i

Lad

4, ¥ =4250+ 1251
Options :
686340152301. 1
686340152302. 2
686340152303. 3
686340152304. 4

Question Number : 77 Question Id : 68634038563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curreney to deposit ratio of an economy is 0.2 and the reserve to deposit rates
is 0.1. at present. What happens to the value of money multiplier if the currency to
deposit ratio for whatever reason is now at 0.4?

1. The money multiplier increases from 0.25 to 2.8

-2

. The money multiplier increases from 0.25 to 1.25
3. The money multiplier falls from 4 to 2.8

4, The money multiplier increases from 2.8 to 4
Options :
686340152305. 1
686340152306. 2
686340152307. 3
686340152308. 4

Question Number : 77 Question Id : 68634038563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fepeit sreforawur &t aduE & S0 o uTd & Uid T&10.2 § 3R oH 39| &
i sRfafd 0.1 813 onf forg fassht off FRUIY S S S wfd qET04 8
1 Gel 7Uie & A  fba-m gikad g

1. 51701 0.25 § 9g@R 2.8 Bl Sl o |

2. &I U 0.25 9 §gR 1.25 B A1 5|

3. O I07 4 H IRPR 2 8 B Wl 6 |

4. T 10T 2.8 Y 9¢HR 4 51 oIl G|
Options :
686340152305. 1
686340152306. 2
686340152307. 3
686340152308. 4

Question Number : 78 Question Id : 68634038564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s RBI's target of inflation for the period 2021-267

1.5+2%

[ ]
LS
|
-
(-]
o

3.4+ 1%

4, 4=2%
Options :
6863401523009.
686340152310.
686340152311.
686340152312.

AW N =

Question Number : 78 Question Id : 68634038564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2021-26 3fAfY 8 RBI P1 &1 ThiTd B A 1 87

1.5+2%

=
LV ]
H-
|
-\e:e

4.4=2%
Options :
6863401523009.
686340152310.
686340152311.
686340152312.

AW O =



Question Number : 79 Question Id : 68634038565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As per the Marshall Lerner conditions, for the trade balance to improve following
depreciation of the currency:

1. the sum of the elasticities of exports and imports should be greater thanl

| ]

. the sum of the elasticities of exports and imports should be less thanl
3. the sum of the elasticities of exports and imports should be equal to 1

4. the sum of the clasticities of exports and imports should be equal to zero
Options :
686340152313. 1
686340152314. 2
686340152315.3
686340152316. 4

Question Number : 79 Question Id : 68634038565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gﬁﬁfﬂﬂ%?ﬁféﬁ ST9R SR o H YR 84 T51 D1 3aed Hakifad
[

- HTaTd Ud Oid & @ ST AT 1 9 i€ g1 91feu]

. 3marg ud frafd ot = 1 anT 1 3 &9 g 9|

. TOTd UG f40id & @ BT 4 1 & SXeL B ey

4. 119 U Frafa &t & BT g & aieR g e

Options :

686340152313. 1
686340152314. 2
686340152315. 3
686340152316. 4

—

=]
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Question Number : 80 Question Id : 68634038566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: In case of inferior goods, Engel curve 1s upward sloping.
Statement II: In case of normal goods. Engel curve is downward sloping.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true

-2

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4, Statement I 15 false but Statement IT 15 true
Options :
686340152317. 1
686340152318. 2
686340152319. 3
686340152320. 4

Question Number : 80 Question Id : 68634038566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRAFARTE

YA I DY g3 & HIHS 1 Uoid aeb SURgE! g1d are g |

WU I T aegai & HHd § Told o SgE! gra arer gl

SIRIFd Y= & el 5, = U T faeedi & ¥ T8t S &1 957 DI
1. PYF 1 R I S TeT T

BYA T SR 1 S 7Ted §

3. PYT I 5. Alhd DY I 7Ted ©

4, YT 1TE ©. Wich Y I1 Fel §

Options :

686340152317. 1
686340152318. 2
686340152319. 3
686340152320. 4

[ ]

Question Number : 81 Question Id : 68634038567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following former Governors of RBI in the chronological order of their
tenure as Governors starting from the earhiest:

A. C. Rangaswami
B. D. Subbarao

C. 1. G. Patel

D. Y. V. Reddy

E. Bimal Jalan

Choose the correct answer from the options given below:
IL.LCCEAB&D
2ACED&B
JCAED&B

4 B.AC.D&E
Options :
686340152321. 1
686340152322. 2
686340152323. 3
686340152324. 4

Question Number : 81 Question Id : 68634038567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HR. 1. 3115, & FEAEd gd TR &1 396 T0-R & ¥4 § SR &
UEFGH 9 TdHdT DIIrpd I ogayd Sify

A.gﬁmﬁﬂ
?iaéaﬁq%a

D. 918 a1 331
E. faqd seH

i f4U U faeedl o § 9ad SUgad SR 1 90 Hiieg

1.CEABD

[ ]

ACEDB
3. CABRDR

4 BACDE
Options :
686340152321. 1
686340152322. 2
686340152323. 3
686340152324. 4

Question Number : 82 Question Id : 68634038568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following events in Indian economy in chronological order. starting
trom the carliest :

A. Passing of mtegrated Goods and Services Tax bill in India (by Lok Sabha)
B. Information Technology Act

C. Demonetisation of ¥ 500 & 1000 notes in India

D. Launching of Pradhan Mantri Jan Dhan Yojana

E. Launching of Sugamya Bharat Abhiyan

Choose the correct answer from the options given below:
1.D,B.E.C.A
2: BB A
3B ByE, A€

4. B, B INA, C
Options :
686340152325. 1
686340152326. 2
686340152327. 3
686340152328. 4

Question Number : 82 Question Id : 68634038568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR sdeae ¥ FafafEd ufitgeais o TRy I Y% B30 5U DIebiis
1 T gafeyd e

A. (TI% FHT & GRI) ¥RA U d HId 3R Hal [derie &1 uiikd si=T|
B. o Wit sfdfas

C. YIRd H 2 500 797 2 1000 & 12! @1 fAEIHR0T

D. UUTTHT S Y-T15T &1 SR

E. Y=l YIRd {0 & R

-1 fau e faoedl § O 9ad Sugad SR &1 984 i
1.D.B.E.C.A
2.B.D.E.C.A
3.B.D,E.A, C

4 E.B.D.A.C
Options :
686340152325. 1
686340152326. 2
686340152327. 3
686340152328. 4



Question Number : 83 Question Id : 68634038569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in correct chronological order starting with the earliest :

A. 1st meeting of Monetary Policy commuittee

B. Export Import Bank of India commenced operations
C. Enactment of FEMA

D. Digital India campaign

E. Narasimhan Committee—II

Choose the correct answer from the options given below:
LD A CBE B
2.B,E.D.A,C
3 BECDA

4. E.B.C.,D.A
Options :
686340152329. 1
686340152330. 2
686340152331. 3
686340152332. 4

Question Number : 83 Question Id : 68634038569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fafead @1 iy 8 2 HYd U Uel PIaH AP 3(pd H afiyd oifom |

A Hifg® Fifq ofafd o yedl 9o

B. YRd1g A fHafa 8@ = vame- e i
C. FEMA &7 3ffef=ag

D. fafvred sfear sfitmm

E. TR 9iHd -1

=i f2U 0 fowenl § O e S TR BT 944 B

1.D;AC.E.B

[ B

B B D €
3. B EC DA

4 E. B, C.D. A
Options :
686340152329. 1
686340152330. 2
686340152331. 3
686340152332. 4



Question Number : 84 Question Id : 68634038570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the chronological order starting with the earliest.

A Loentief Paradox

B. Factor proportions Theory of International Trade

C. Absolute Advantage Theory of International Trade

D. Comparative Advantage Theory of International Trade

Choose the correct answer from the options given below:

1.A,B.CD

B

.5,.C. B A
3.B.A.D.C

4. C.D.B.A
Options :
686340152333. 1
686340152334. 2
686340152335. 3
686340152336. 4

Question Number : 84 Question Id : 68634038570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAfeiRad P ARY ¥ R B gU 981 PO iHe HIHH H Said DIt
A TS faRiTHE
B. IR BT SRP JHUTA
C. IR &1 A0} Ty
D. TI9R B TS a1y

=4 AU T At § § 999 IUgad SR B 904 DI

1: A B CD

|

DL C BA

.B.A.D.C

T

4 C.D.B.A
Options :
686340152333. 1
686340152334. 2
686340152335. 3
686340152336. 4

Question Number : 85 Question Id : 68634038571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: For a random variable X which has mean = 10 and variance = 100,
the variance of (5x + 10) 18 2500.

Reason R: Var (ax + &) = Var (x)
and so the variance of (ax + b)
or Var (5x+ 10)1s 100.

In the light of the above statements. choose the correcr answer from the options
given below:

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are trie but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true
Options :
686340152337. 1
686340152338. 2
686340152339. 3
686340152340. 4

Question Number : 85 Question Id : 68634038571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 &1 BY= [ 7TU 8: U ATUDUT (Assertion A) & U H (1R S ol GERT
I PIRUT (Reason R) T IYH:

HIUTUF A: UF TR0 9% X og oral J19 = 10 3R [d9a9 =100 8. (5x +
10) &1 fage 2500 B

WR:?R[ax+b}=a?{x)3ﬁ?§ﬂ eTu (ax+b}ﬁiéaﬁ:|m?ﬁ (5x+10) 1s
10031

SR Y & S 1, A [GU T fdeed] § ¥ T99 SUgad ST% &1 994
i“ 1:

1LARRIA TR AR R AT To AT &
2. A IR R TE § SRR, A &1 T ore et §
AT ROl R EE T R
4 ATEITE SO R WEIE
Options :

686340152337. 1
686340152338. 2



686340152339. 3
686340152340. 4

Question Number : 86 Question Id : 68634038572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

: 1 2 ;
Assertion A : For matrix A = L{ I6—| .rankof A=1{A)=1

Reason R: For matrix A if | A | = 0. then it implies that rank of matrix A grven by
r(A) 1s less than full rank.

In the light of the above statements. choose the mosr appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A iz correct but R is not correct

4. A iz not correct but R is correct
Options :
686340152341. 1
686340152342.2
686340152343. 3
686340152344. 4

Question Number : 86 Question Id : 68634038572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=14 31 P2 [3U TTU §: U SIFUSUT (Assertion A) & $U H faRad § dl G811
W%W(Reason R)aiwffi

ATYHYT A : 3TE ,a{; ﬂ A BB =r(A)=1

FRUTR: 5 A g UE |A|=0. d 78 [daféd giar e [ s A SIiP
Sl 1(A) @ GRIWEd 6. Ul <& 4 PH 5

SR B & SATE(e 1, A [T fqeed] H ¥ Taw IUgad 3<% &1 999
EII E:

1. A AR REHI 98l § 3R R. A Pl el ARSI ©
2. ARREFAITEI 8 AR R AT T8I TR T8l &
. ATSI e OfFAR G TS

1. A TGSl S AfPTR UL B
Options :
686340152341. 1
686340152342, 2
686340152343. 3
686340152344, 4

Question Number : 87 Question Id : 68634038573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: General equilibrium is attained in an economy when demand equals
supply in all markets simultaneously.

Reason R: In a general equilibrium model. relative prices cannot be determined.

In the light of the above statements. choose the mosr appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R i3 NOT the correct explanation of A
3. A iz correct but R is not correct
4, A is not correct but R is correct
Options :
686340152345. 1

686340152346. 2
686340152347. 3



686340152348. 4

Question Number : 87 Question Id : 68634038573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
149 31 P 3T U §: U SIUBYUT (Assertion A) P ¥U H fafad g d ga=1
34 PRI (Reason R) $3q

AUy A [t sreforae & e AT g & ReR Wi aoR H U Wy
TG & 6 TIHT Ieqa W el g

TR:W@@?Wﬁﬁ&@ﬂﬁﬁmﬁmﬁmmw
i

SR HUH & aie 4, 1 U e fdeedl & 3 gad Iuged SR &l 997
i” 1:

A SRR EF FEI§ IR R. A B Hel AT &

2. A SRR EF HEI§ SRR A DI U6 ARAT T8 ¢
AT IR TS TR

4. AT BABTIR TR

Options :

686340152345. 1
686340152346. 2
686340152347. 3
686340152348. 4

—
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Question Number : 88 Question Id : 68634038574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Let vector a = (x. . z) and vector b = (2. 3. 5).
Thena=bifand onlyif x=2. yv=3 andz=5.
Reason R: Two vectors are equal if all their corresponding components are equal.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

-J

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R is not correct

4, A is not correct but R is correct
Options :



686340152349. 1
686340152350. 2
686340152351. 3
686340152352. 4

Question Number : 88 Question Id : 68634038574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=14 &1 P ST T §: TP ITUBYT (Assertion A) P ¥U F fafad g dl ga=1
TP BRI (Reason R) & U H:

ATYHYT A: 71 5 GeW a=(x. 3, 2) IR IRT b=(2.3.5 da=b W
A IR Paaag x=2.y=3 ANz=5%8I

PRI R: 5 G999 814 § afe 3% gt I 3/aaq o1 ued 99 sid of |

e U o STl O, i (4T Y fdsed] & ¥ Had SUged ST &1 997
i' 1:

1. A SRR GHI T § IR R. A & el T §

A SRR I T8 § 3R R. A B Hel el 81 §
3AVE S O R U T ®

4. AGEITE AP REE B

Options :

686340152349. 1
686340152350. 2
686340152351. 3
686340152352. 4

[ ]

Question Number : 89 Question Id : 68634038575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other i
labelled as Reason R.

Assertion A: According to the Heckscher-Ohlin model. free trade results in
equalisation of factor prices across nations.

Reason R: This i1s because the model assumes perfect international mobility of the
tactors of production.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are true and R 1s the correct explanation of A

I

. Both A and R are true but R 1s NOT the correct explanation of A

L)

. A 15 true but R is false

4, A is false but R is true
Options :
686340152353. 1
686340152354.2
686340152355.3
686340152356. 4

Question Number : 89 Question Id : 68634038575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
14 &1 HUF U §: U ATUSYUT (Assertion A) P ¥U H [G1RGd & dl g6l
TP BRI (Reason R) & 30 1

fUSYT A: BFIR Siiefor Uidey & SR 9% Uyl § g IR RS
el & JHHI0 4 URuTE gldl g

WR;%WWW@NM%@@Eﬁ%G{W@HW
o ddl gl

SURIad HUH & die T, 1 U MU fdpedl & O s Suged ST &l 997
i” 1:

1. A SRR A T § IR R. A B Yol TR §

A SRR IF T2 § 3R R. A B Hel ARl el ©
ATEI S A RIS T ®

4. A T8l UPIR WE &

Options :

686340152353. 1
686340152354. 2
686340152355. 3
686340152356. 4
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Question Number : 90 Question Id : 68634038576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A | Neoclassical theorv of investment| [ | Kevnes
B. | qtheory II. | Jorgenson
C. | Marginal Efficiency of Capital III. | Samuelson
D [ Multiplier-accelerator model IV |Tobin

Choose the correct answer from the options given below:

1. A-II. B-IV., C-I, D-III

-J

ATV B-TILL. C-I1L D-T
3. A-IV. B-IL. C-1. D-III

4, A-II. B-IV. C-I1I, D-I
Options :
686340152357. 1
686340152358. 2
686340152359. 3
686340152360. 4

Question Number : 90 Question Id : 68634038576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
gl 1 14! 11 9 [HaH Sifey
il I 11
9= @1 FAYE el 1 [
o el 1. [SR=E

Uil bl Qi wordl [ 1L [SHuaed
[uTeh @i widey IV. [elie

fFafeiad f[deedl § O gel Sux &1 999 DIl ;

1. A-II,. B-IV, C-L D-III

olalw[s

2. A-IV. B-1I1. C-1I1, D-I
3. A-IV. B-II. C-1. D-III

4. A-Il. B-TV. C-IT1. D-1I
Options :
686340152357. 1
686340152358. 2
686340152359. 3
686340152360. 4



Question Number : 91 Question Id : 68634038577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A Coanot_ 1. | Jomnt Profit Maximisation
Equilibrium

5 i Largest firm sets price to maximise
B. | Nash Equilibirum| I s P

profits
Equilibrium in which each firm
Cournot Collusive correctly assumes how much its
& L T : ; :
Equilibrium competitor will produce and sets its

own production level
; s Set of strategies or actions in which
Dominant firm 3 : ; : :
D. sl IV, | each firtn does its best given its
i competitor's actions.

Choose the correct answer from the options given below:

1. A-I, B-III, C-II. D-IV

| B

CA-L BA-ILL C-IILL D-IV
3. A-IIL B-IV. C-1. D-II

4, A-Il. B-1. C-TIL. D-IV
Options :
686340152361. 1
686340152362. 2
686340152363. 3
686340152364. 4

Question Number : 91 Question Id : 68634038577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 1 1 gl 11 9 fHaH Sl
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A [@Hie geH L [Oga Ty A aHieIH
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L " [STEA BT 3R 30 I wR
T B FOd Sl ©
feraat 3R YUl 1 T
b . - o Td® B o0 niasaragl o
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GG

fafdRad fas el ¥ 9 98l IR &1 999 Sifl -

1. A-I. B-III. C-II. D-IV

2. A-L. B-1I. C-III. D-IV
3. A-ILL B-IV, C-I, D-II

4, A-II. B-1. C-III. D-IV
Options :
686340152361. 1
686340152362. 2
686340152363. 3
686340152364. 4

Question Number : 92 Question Id : 68634038578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 LISTII
Collateralised lending by

2. | B Bekeme 2 Central Bank for longer periods
B [nsolvency and 1 E__.iquiditj.' enhanc%ng and

" | Bankruptey Code " |mvestment boosting measures
C Long Tenn Repo 1 Quick R_esclution of non-

" | Operations " lperforming assets of banks
p |uer IV Largest digital retail payment

" | system in the country

Choose the correct answer from the options given below:
1. A-IV. B-III. C-I., D-II
2. AL B-1. C-IV. D-III
3. A-IV. B-I. C-III. D-II

4, A-II. B-III. C-1. D-IV



Options :

686340152365. 1
686340152366. 2
686340152367. 3
686340152368. 4

Question Number : 92 Question Id : 68634038578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gt 11 F e Sifrn

T 1 TR II

A craiaie 2 o 1g d gRI
A PLT TG L S b
. FBUTEI YA H&HdT 31 i dRaldl gatid 3R Hd agd
c [deRmWmEeT | Wﬁm'ﬁm%wm

: G2 d g9 931 fafsiea gad

D. [UPI IV, =
Frafciad faeel § O Ugl 3R &l 94+ DI ;

1. A-IV. B-IIL C-I. D-II

-2

AL B-IL C-IV. D-II1
3. A-IV. B-1. C-III. D-II

4. A-I1. B-I1. C-1. D-IV
Options :
686340152365. 1
686340152366. 2
686340152367. 3
686340152368. 4

Question Number : 93 Question Id : 68634038579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: Walras' law states that the value of aggregate excess demand for all
markets is zero.

Reason R: If (K-1) markets are in equilibrium, then the market for good K will
automatically have demand equal to supply.

In the light of the above statements. choose the meost appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

]

. Both A and R are correct but R 13 NOT the correct explanation of A

L)

. A 15 correct but R is not correct

4, A is not correct but R is correct
Options :
686340152369. 1
686340152370. 2
686340152371. 3
686340152372. 4

Question Number : 93 Question Id : 68634038579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
12 1 e U Y §: U SHIBY (Assertion A) & ¥4 H 410 € ol g&
3% BRI (Reason R) F3ud

TS A : TRy i/ g gg FEly o e 6 9l 99R & o g
HicRe O &1 A YA Bl o |

SRUTR: TG (K-1) TR Tqa 1 ¢ al 9% K 8q 9T9R W@a: ST & 994
g1 SRIER | W&

SWRIAd HYH & 3iedie H, I U U fasedi § I Uad Iugdd Ik &1 99
” I:

1. AMRREHIUEI § SRR A DI I ARAT B

2. A SRR G T8I € SR R. A I U5l AR el §
3. ATEI R AfFA R WA TR ©

4. AGEI eI B fPIR Wl ©

Options :

686340152369. 1
686340152370. 2
686340152371. 3
686340152372. 4




Question Number : 94 Question Id : 68634038580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are correct regarding market structures:

A. Monopolistic competition is characterised by free entry/exit with each firm
producing differentiated goods.

B. Oligopoly allows free entry.

C. Cartels are formed when firms explicitly collude and maximise joint profits.

D. Monopoly power arises when price > AC

E. Competitive market does not allow free entry.

Choose the correct answer from the options given below:

1. Aand B only

[ o

. A and E only
3. Cand D only

4, A and C only
Options :
686340152373. 1
686340152374. 2
686340152375. 3
686340152376. 4

Question Number : 94 Question Id : 68634038580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR 614 & Hau H Fafeiad § o 96l &
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B. S{eUIUSR o HiafP &1 safa S gl
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= fqu U fdeedl § ¥ 9ad Sugad 3R &1 90 Hifoiw:
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4. Fad ASRC

Options :
686340152373. 1




686340152374. 2
686340152375. 3
686340152376. 4

Question Number : 95 Question Id : 68634038581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct 7

A. Under fixed exchange rates and perfect capital mobility, a country cannot
pursue an independent monetary policy.

B. Under flexible exchange rates and perfect capital mobility. a country can not
pursue independent fiscal policies.

C. Under fixed exchange rates and perfect capital mobihity. fiscal expansion 1s
extremely effective.

D. Under flexible exchange rate and perfect capital mobility. a country can
pursue an independent monetary policy.

E. Both under fixed and flexible exchange rates. there are no constraints on
pursuing fiscal or monetary policies independently.

Choose the correct answer from the options given below:

1. A and C only

| )

A, Cand D only
3. B and D only

4. B and E only
Options :
686340152377. 1
686340152378. 2
686340152379. 3
686340152380. 4

Question Number : 95 Question Id : 68634038581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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-1 fou U famedl § ¥ 9ad Sugad IR &1 907 i
1.%ad ASIRC
2. %ad A.C 3iRD
3.%ad B 3RD
4. %ad BAR E
Options :
686340152377. 1
686340152378. 2

686340152379. 3
686340152380. 4

Question Number : 96 Question Id : 68634038582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following points lie in the convex set of points (2. 3) and (4. 1)?

A.(3.6,14)
B. (3.0. 2.0)
C.(2.4,2.6)
D.(1.2.3.8)

Choose the correct answer from the options given below:

1. A only

2

. B only

L]

. C and D only

4. A. B and C only
Options :
686340152381. 1
686340152382. 2
686340152383. 3
686340152384. 4



Question Number : 96 Question Id : 68634038582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152381. 1
686340152382. 2
686340152383. 3
686340152384. 4

Question Number : 97 Question Id : 68634038583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Arrange in the chronological order of the occurrence of events:

A. Great Depression

B. Golden Age of Capitalism

C. Second World War

D. Setting up of WTO

E. Second international oil price shock

Choose the correct answer from the options given below:
1.C_A.B.E.D
2ACBDE
3ACB.ED

4 ALC.E.B.D
Options :
686340152385. 1
686340152386. 2
686340152387. 3
686340152388. 4



Question Number : 97 Question Id : 68634038583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 A.C.E.B.D
Options :
686340152385. 1
686340152386. 2
686340152387. 3
686340152388. 4

Question Number : 98 Question Id : 68634038584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Price signalling refers to implicit collusion in which a firm
annoumces a price increase i the hope that other firms will not follow suit.

Statement II: Price leadership refers to a pattern of pricing in which one firm
regularly announces price changes that other firms then match.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement IT are true

=]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement II is true
Options :
686340152389. 1
686340152390. 2
686340152391. 3
686340152392. 4



Question Number : 98 Question Id : 68634038584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152389. 1
686340152390. 2
686340152391. 3
686340152392. 4
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Question Number : 99 Question Id : 68634038585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: When the economy 1s 1n liquidity trap. the LM curve 1s vertical.

Statement IT: Monetary policy is ineffective when the economy 1s in liquidity
trap.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement II is true
Options :
686340152393. 1
686340152394. 2
686340152395. 3
686340152396. 4



Question Number : 99 Question Id : 68634038585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 100 Question Id : 68634038586 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A: If a proposition P implies proposition Q. then we can say that Pis a
sufficient condition for QorP=Q

Reason R: For proportion Q to be true it 1s sufficient that Pis true 1.e.. Qs a
necessary condition for P.

In the light of the above statements. choose the mest appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A 1s correct but R is not correct

4, A is not correct but R 1s correct
Options :
686340152397. 1
686340152398. 2
686340152399. 3
686340152400. 4



Question Number : 100 Question Id : 68634038586 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340152397. 1
686340152398. 2
686340152399. 3
686340152400. 4
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